60 Drive unit RI D3 IE2 mit PKZM (9.986-274.0) KARCHER

Ringler \ Industrial vacuum cleaner \ Rl 331 D3 |IE2-IS-H ohne Zubehor \ Drive unit Rl D3 IE2 mit PKZM

430
110
10

Valid on 03.09.2018 Page1l/3



60 Drive unit RI D3 IE2 mit PKZM (9.986-274.0) KARCHER

Ringler \ Industrial vacuum cleaner \ Rl 331 D3 IE2-IS-H ohne Zubehor \ Drive unit RI D3 IE2 mit PKZM

POS Preces Nr. Apraksts Quantity Unit
70 9.980-855.0 Baffle plate small 2137mm 1.000 ST
10 9.984-768.0 Blower base lacquered 1,5 - 4kW 1.000 ST
390 9.974-487.0 Cable gland black M25x1,5 2.000 ST
350 9.979-917.0 Cable gland BS-M20x1,5 1.000 ST
110 9.976-639.0 Connecting hose Wyrem @63 x 400 mm 1.000 ST
340 9.979-856.0 Connection cable orange 4x2,5mm2-7m HO7B 1.000 ST
30 9.986-936.0 Cover lacquered for 1,5 - 3kW 1.000 ST
260 9.979-784.0 Eye screw zinc-plated M10 DIN 580 1.000 ST
50 9.980-180.0 Flat filter antistatic 0,45 m2 Kat. "L" 1.000 ST
160 9.980-114.0 Grip bar closure 2240207 2.000 ST
230 9.980-919.0 Grounding cable green/yellow 6,0mm?2x600m 2.000 ST
330 7.311-425.0 Hexagon nut M6 -04-A2E DIN 985 6.000 ST
80 6.902-176.0 Hose clip 60-80 mm 1.000 ST
120 9.979-969.0 Hose clip zinc-plated g50-70x12mm 2.000 ST
220 9.983-039.0 Hose pneumatic nature PUN-8x1,25-NT 1.000 M
380 9.974-674.0 Insulated housing CI-K2-PKZ0-G, IP 55 1.000 ST
150 9.976-638.0 Intake hose cooling air 200 Typ "D" 1.000 ST
20 9.988-542.0 Intermediate ring with imprinting lackie 1.000 ST
360 9.986-318.0 Klapp-Flachverschraubung M20x1,5 1.000 ST
430 9.980-336.0 Label safety instructions 3-phase-curren 1.000 ST
400 9.974-538.0 Locknut SM-M25x1,5-CuZn 2.000 ST
210 9.979-426.0 L Push-in fitting QSLF-1/4-8-B 1.000 ST
410 9.974-676.0 Motor protecting switch PKZM0-10 1.000 ST
140 9.980-951.0 Nut with strainer 2 3/4" 4.000 ST
240 6.362-099.0 O-Ring seal 63,0 x 3,0-NBR 63 1.000 ST
370 9.974-071.0 Oval head screw M 4x 12-vz ISO 7380 5.000 ST
300 7.312-005.0 Paplaksne 10-200HV-A3E ISO 7090 2.000 ST
40 9.980-354.0 Profile cellular rubber black 30x6x1800m 1.000 ST
200 9.979-448.0 Push-in fitting straight 1/4" QS-G1/4-8 1.000 ST
420 9.986-643.0 Retaining plate for housing CI-2K PKZM 1.000 ST
250 9.974-165.0 Securing screw zinc-plated M 8x 12 12.000 ST
290 7.311-423.0 Sesstlra uzgr. M10 -04-A2E DIN 985 1.000 ST
90 Side canal compressor assembly group 3kW 1.000 ST

Valid on 03.09.2018 Page2/3



60 Drive unit RI D3 IE2 mit PKZM (9.986-274.0) KARCHER

Ringler \ Industrial vacuum cleaner \ Rl 331 D3 IE2-IS-H ohne Zubehor \ Drive unit RI D3 IE2 mit PKZM

POS Preces Nr. Apraksts Quantity Unit
100 9.981-813.0 Silencer Ausblasschl. g76x800mm 1.000 ST
180 9.974-740.0 Slider plastics black g8mm 2.000 ST
170 6.321-133.0 Star handle M8X16 2.000 ST
130 9.980-052.0 Threaded part for blow off 2 3/4" 3.000 ST
60 9.979-980.0 Tightening strap with lock g60-540mm 1.000 ST
310 7.312-167.0 Toothed lock washer A6,4-FSt-A3E DIN 67 4.000 ST
190 9.981-675.0 Vacuum gauge 0-400mbar 1.000 ST
320 7.312-003.0 Washer 6 -200HV-A3E ISO 7090 10.000 ST
270 7.312-050.0 Washer 16-200HV-A2E 1SO7093-1 1.000 ST
280 9.979-807.0 Washer g40x10,5x1,5mm-vz DIN 9021 1.000 ST

Valid on 03.09.2018 Page 3/3


http://www.tcpdf.org

